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112.09.05 | —/K4P |2 B #&375% <l 1 0.1 <5 ND 8.16 ND ND 718 154 0.56 6.8 G
112.09.05 | —/K4P | ERA#E215F <l <l 0.05 <5 ND 831 ND ND 739 140 0.54 6.8 G
112.09.05 | /K4 | ERAEE2285% <l 1 0.1 <5 ND 797 ND ND 66.2 160 0.53 6.8 G
112.09.05 | —/K4P |V #2798k <l 2 0.2 <5 ND 8.59 ND ND 66 116 0.52 6.7 G
112.09.05 | /K4 | me BB 2EL4055% <l 1 0.05 <5 ND 8.41 ND ND 711 144 0.58 6.8 G
112.09.05 | /K4 | BHEREOEES305% <l <l 0.1 <5 ND 8.41 2.8 ND 739 138 0.53 6.8 G
112.09.05 | /KD | BHEREOETA85E <l 4 0.05 <5 ND 83 23 ND 64.3 142 0.51 6.7 G
112.09.05 | /KD | BHERE3EE3915% <l <l 0.05 <5 ND 791 26 ND 83.5 122 0.54 6.8 G
112.09.05 | —/KHD | BHERE4EE1605% <l 1 0.1 <5 ND 8.61 ND ND 718 122 0.5 6.8 Eris
112.09.05 | —/K4 | B HERE4EE2095% <l 6 0.1 <5 ND 8.68 ND ND 737 125 0.53 6.8 &t&
112.09.05 | FHH$H | EERE2EES095% <l <l 0.1 <5 ND 9.07 25.6 ND 133 195 0.53 6.9 &t&
112.09.05 | FHHEH |ERERRET35% <l 1 0.05 <5 ND 8.37 21.1 ND 137 208 0.48 6.8 &t&
112.09.05 | HHH$H | BHEREOEL6705% <l 2 0.05 <5 ND 8.48 25.1 ND 131 205 0.45 7 &tk
112.09.05 | HHH$H | B HEREOEL6885E <l 3 0.1 <5 ND 8.82 239 ND 198 227 0.48 6.9 &t&
112.09.05 | FHHSH |HrEpe1 1258 <l <l 0.1 <5 ND 8.7 2.6 ND 127 188 0.52 6.8 &t&
112.09.05 | FHHSH |88 T EE3995% <l 6 0.1 <5 ND 9.16 23 ND 131 203 0.51 6.9 &t&
112.09.06 | FIZEEH |/KIEHREETS05E <l 2 0.1 <5 ND 0.12 46.6 ND 249 380 0.71 1.1 &t&
112.09.06 | FISEEH |FISESAHEEE 15058 <l 2 0.1 <5 ND 0.73 12.8 ND 110 136 0.43 7.8 &t&
112.09.06 | FISE6H |B250E = EF1185F <l 2 0.1 <5 ND 0.14 45 ND 245 375 0.49 7.8 &t&
112.09.06 | #ALT |k Z2H#3275% <l 2 0.05 <5 ND 0.45 455 ND 182 266 0.4 1.1 &t&
112.09.06 | #ALT | H7EE2265 <l 2 0.1 <5 ND 0.74 289 ND 106 135 0.46 7.6 &t&
112.09.06 | #ALT | H 78 EE3545% <l 3 0.1 <5 ND 0.76 29.2 ND 120 142 0.45 7.6 &t&
112.09.06 | #ALiT | HRE—ER41 758 <l <l 0.1 <5 ND 0.74 30.2 ND 125 160 0.39 7.5 &t&
112.09.06 | #ALilT | BRE—ER627-15% <l <l 0.1 <5 ND 0.77 30.5 ND 108 167 0.44 7.6 “té
112.09.06 | #ALTT | RMFEHE23589%5E <l 2 0.1 <5 ND 0.75 304 ND 128 130 0.4 7.5 “té
112.09.06 | LT |ERE A 13658 <l 1 0.1 <5 ND 0.76 26.8 ND 108 136 0.43 7.6 “té
112.09.06 | #ALT |EREHEE 1785 <l 2 0.1 <5 ND 0.78 13.5 ND 108 136 0.47 7.5 “té
112.09.06 | LT |EREHEE3205% <l <l 0.1 <5 ND 0.84 29.7 ND 112 146 0.53 7.5 “té
112.09.06 | #ALit |S2EERE—ER2205% <l <l 0.1 <5 ND 1.29 29.3 ND 167 304 0.57 7.2 “té
112.09.06 | #ALil |S/EERE—ER4185F <l 2 0.1 <5 ND 1.21 38.8 ND 169 275 0.57 7.5 “té
112.09.06 | #ALT | S EEE ] EE2525% <l 1 0.1 <5 ND 0.37 114 ND 96.2 244 0.59 8 =vicd
112.09.06 | #AL T |HElEE26%E <l 2 0.1 <5 ND 0.74 31.2 ND 116 148 0.37 7.5 “té
112.09.11 | KA | AABE—ER625F <l <l 0.1 <5 ND 0.13 ND ND 123 132 0.58 7.3 “té
112.09.11 | KA | AFSEBLLIIEE 115-95% <l <l 0.15 <5 ND 2.94 784 ND 109 168 0.53 6.9 “té
112.09.11 | KA | AFSEBLLIIEE 152-155% <l <l 0.2 <5 ND 2.93 68.3 ND 119 155 0.54 6.9 “té
112.09.11 | KA | AR EBEIERE 1068520595 <l <l 0.1 <5 ND 0.14 ND ND 117 99.9 0.54 7.3 “té
112.09.11 | KRS |45 LA o iLBE2E50405% <1 <1 0.15 <5 ND 0.21 28 ND 109 170 0.61 7.3 =i
112.09.11 | AAHEE | AHAEEREE1EL249-55% <1 <1 0.1 <5 ND 0.13 28 ND 111 142 0.59 7.5 =i
112.09.11 | AR | ¥E L 1484-2555% <1 <1 0.15 <5 ND 2.94 74.8 ND 107 176 0.49 6.8 =i
112.00.11 | AR |$1122 FE40350 5% <1 <1 0.15 <5 ND ND 6.1 ND 127 134 0.5 74 =i
112.09.11 | FESSE | FEIEERFLLIER —FF4795% <1 <1 0.15 <5 ND ND 4.3 ND 117 182 0.57 7.1 =i
112.09.11 | FESESE | FEIEERFLIER —EF905% <1 2 0.2 <5 ND 0.04 59 ND 119 156 0.51 74 =i
112.00.11 | FERIYE | FESRIAE P IERE 19057 <1 <1 0.2 <5 ND ND 4.1 ND 121 150 0.63 7.8 =i
112.09.11 | {EIEAD | TERIAIHEEAE1985F <l <l 0.1 <5 ND 275 89.7 ND 121 160 0.45 7.1 &té
112.00.11 | FERI4 | FERGHT1158 <1 <1 0.1 <5 ND ND 18.7 ND 127 132 0.71 7.8 =i
112.00.11 | FERIAE | 17358 <1 <1 0.1 <5 ND ND 4.9 ND 123 184 0.65 7.1 =i
112.09.11 | TEHRISE | &85 12155 <1 <1 0.1 <5 ND ND 36 ND 127 146 0.61 7.8 =i
112.09.11 | FESEAE | &2 % — Fe5535% <1 <1 0.15 <5 ND ND 36 ND 123 170 0.65 7.8 =i




